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'AYUSH' is related with

a) System of medicine
b) Rocket

¢) Transport

d) Banking

Effective vaccine is not available
for the control of

a) Tuberculosis
b) Hepatitis B
¢) Leprosy

d) Polio

'Botanical Garden of the Republic of
India' is located in

a) Gujarat

b) Karnataka

¢) Uttar Pradesh
d) Madhya Pradesh

Comets revolve around

a) Earth
b) Sun

¢) Moon
d) Saturn

Instrument used to measure earth
quake is known as?

a) Seismograph
b) Quake graph
¢) Earth measure
d) Vibration graph

Majuli, the largest river island is in
a) India
b) Brazil

c) Egypt
d) Zaire

b) Stem
c) Leaves
d) Bark

SECTION -1
GENERAL KNOWLEDGE & CURRENT AFFAIRS

10.

I1.

12.

13.

14.

'Land of smiles' is which country?
a) Singapore

b) Switzerland

¢) Thailand

d) Denmark

Gwadar port is in
a) Syria

b) Pakistan

c) Iraq

d) UAE

Barak valley in Assam is famous for?

a) Maize
b) Jute
c) Tea
d) Coffee

“Beti bachao, beti padhao” is aimed at

a) Prevention of gender biased sex selective elimination,

b) Ensuring survival & protection of the girl child,
c) Ensuring post doctorate fellowship to girls
d) Both a & b are correct

Under the Constitution of India, which one
of the following is not a fundamental duty?

a) To vote in public election

b) To develop the scientific temper

¢) To safeguard public property

d) To abide by the Constitution and respect its ideals

The solar eclipse occurs when

a) the sun comes in between the moon and the earth
b) the earth comes in between the sun and the moon
¢) the moon comes in between the sun and the earth
d) None of the above

The gas predominantly responsible for
global warming is

a) Carbon monoxide
b) Carbon dioxide
¢) Nitrous oxide

d) Nitrogen peroxide



15.

16.

17.

18.

19.

20.

21.

22.

Silk is produced by

a) Egg of silkworm
b) Pupa of silkworm
¢) Insect itself

d) Larva of silkworm

Which city has San Francisco
accepted to be its sister city?

a) New York city
b) New Delhi

¢) Bangalore

d) Seoul

On which river will you find the city of Rome?
a) Tiber

b) Danube

¢) Thames

d) Volga

What was the name of Maharana
Pratap's famous horse?

a) Chetak

b) Rana

¢) Asvamedha
d) Becaphalus

Name the Rajput princess whom Akbar married?
a) Jija Bai

b) Noor Jahan

¢) Jodha Bai

d) Mumtaz

Who was the first woman president
of the Congress?

a) Annie Besant

b) Fatava Tabassoom

¢) Nellie Sengupta

d) Aruna Asaf

Who wrote the book “Meghdoot”

a) Kalidas

b) Barahmihir

¢) Gangesh

d) Vishnu Sharma

Which is most venomous snake found
in India?

a) King Cobra

b) Black banded sea krait

¢) Krait

d) Python

23.

24.

25.

26.

27.

28.

29.

30.

Which fish is called humans' friend fish?
a) Star fish

b) Jelly fish

¢) Dolphin

d) Blue whale

The highest slab in the GST has been capped to,
a) 24%
b) 25%
¢) 26%
d) 28%

Ajanta painting depicts the life history of
a) Lord Rama

b) Lord Shiva

¢) Lord Krishna

d) Lord Buddha

Parliamentary form of government first evolved in

a) Rome

b) The United States

¢) The United Kingdom
d) Greece

World Environment Day is celebrated
every year on

a) March 8
b) June 5
c) Julyll
d) April 7

Who gave the first evidence of the
Big- Bang theory?

a) Edwin Hubble

b) Albert Einstein

¢) S. Chandrasekhar

d) Stephen Hawking

Which foreign Country is closest to
Andaman Islands?

a) Srilanka

b) Myanmar

¢) Indonesia

d) Pakistan

Which of the states is called Sugar
bowl of India?

a) Uttar Pradesh

b) Chattisgarh

c) AP

d) Bihar



SECTION - 11
ENGLISH INCLUDING COMPREHENSION

Questions 31 -35:
Read the passage below and answer the question that follow :

Modern civilization has some serious defects. In democratic countries men are equal before the law and have a voice in
deciding how and by whom they shall be governed. But the sharing out of money — which means the sharing out of food and
clothing and books and so on — is still very unfair while some people live in luxury, many have not enough to eat and drink
and wear. Even in the finest of the world's cities thousands of people live in dreadful surroundings. There are many families
of five and six person who live in a single room: they sleep, dress, wash and eat their meals in the same room: in the same
room they are born and in the same room they die and they live like this not for live like this fun but because they are too poor
to afford another room.

A still greater danger comes from war. Twice already in my life -time from 1914 to 1918 and from 1939 to 1945, almost
whole of the world has been torn by war. Moreover, in the conditions of present day any war that starts anywhere is more
and more likely to spread everywhere. What a still more tragic is that man has now discovered how to release for purposes
of war the colossal forces locked up in the atom. The leading nations of the world are making bombs which if another war
came, would certainly be widely used. Nobody knows what the effect of dropping an atom bomb on a large scale would be,
butitis quite possible that the total destruction of civilization of the west, and even parts of the world might ensue.

Yet another great defect of civilization is that it does not know what to do with its knowledge. Science has given us powers
fit for Gods yet we use them like small children. For example, we do not know how to manage our machines. Machines were
made to be man's servants: yet so dependent on them that they are in a fair way to become his masters.

31. The characteristic feature of democracy is that 34. That there is unfair and uneven distribution of
a) People enjoy unrestricted freedom to do what they like food and clothing and houses and so on is the
b) All the people belong to one party or another drawbacks of
¢) People are equal in the eyes of law and they have a role to a) The modern democracy
play in their appointment of their rulers b) The modern socialistic system
d) Government does everything for the people because ¢) The modern civilization
they are equal d) The constitutions of modern countries

32. "Man has now discovered how to release for

purposes of war the colossal forces locked up 35. Which of the following may be the most suitable
in the atom" means that heading of the above passage?
a) Atomic power has dehumanized mankind a) Man and Machine
b) There are immense possibilities of man discovering new b) The curse of Science
sources of powers of destruction c¢) Defects of Modern civilization
¢) Destructive powers of immense proportion are stored up d) Atomic power for destruction or construction

in the atoms
d) Man knows the secret of putting the atoms to the best use

33. What is quite possible if in future war atoms bombs are dropped on large scale?

a) The nation will undergo untold suffering and misery

b) The nation that drops them on its enemy will itself engulfed in the destructive fold of war

¢) The total destruction of the civilization of the west and even of other parts of the world might materialize

d) The leading nations of the world will realize the destructive capacity of atomic warfare and will come
round to solve their disputes by negotiations

Questions 36 - 40 :
Directions: In the following questions choose the word or phrase synonymous
(similar in meaning) to the word given

36. Persecute 37. Tyrant
a) Punish a) Dictator
b) Help b) Democrat
¢) Protect ¢) Monarch
d) Reward d) Radical



38. Amendment
a) Change
b) Damage
¢) Retrogress
d) Vandalism

39. Peculiar
a) Strange
b) Normal
¢) Ordinary
d) Mundane

Questions 41 - 45

40.

Obsolete

a) New

b) Outmoded

¢) Contemporary
d) Current

Directions: In the following questions choose the word which closely fits the given definition.

41. One who is all powerful
a) Omnipresent
b) Omnipotent
¢) Omniscient
d) Omniparient

42. One who is easily deceived
a) Foolish
b) Principled
c¢) Conscientious
d) Gullible

43. One who changes sides
a) Hypocrite
b) Turncoat
¢) True blue
d) Adherent

Questions 46 - 50 :

44,

45.

One who looks on the bright side of things?
a) Optimist

b) Pessimist

¢) Alarmist

d) Fatalist

One incapable of being tired
a) Enervated

b) Fatigued

¢) Invigorated

d) Indefatigable

Directions: In the following sentences point out the error, if any

46. I like to go Goa for vacation.
a) Ilike to
b) Go Goa
¢) For vacation
d) No error

47. She did not knew the correct answer
to the question.
a) She did not knew
b) The correct answer
¢) To the question
d) No error

48. An important part of my life have
been the people who stood by me.
a) An important part of
b) my life have been
¢) the people who stood by me
d) No error

49.

50.

I don't believe its finally Sunday.
a) I don't

b) believe its

¢) finally Sunday.

d) No error

He excepted her offer to drive him home.
a) He excepted

b) Her offer to

¢) Drive him home

d) No error



Questions 51 -55:
Directions: In the following questions choose the correct preposition to complete the sentence:

51. Let us have bread and butter breakfast. 54. He is one many to have been able to
a) In accomplish the task.
b) For a) From
¢) To b) Among
d) Around ¢) Under
d) Out
52. We have not seen eachother  ~ last
five years. 55. She was dismissed the class
a) Since for misbehavior.
b) From a) From
c) Out b) Out
d) On ¢) In
d) To
53. Can you distinguish pale pink baby pink?
a) By
b) Amongst
¢) From
d) Within

Questions 56 - 60 :

Directions: In the following questions choose the most appropriate Antonyms
(word opposite in meaning).

56. Dissent 59. Debonair
a) Agreement a) Balmy
b) Demur b) Stormy
¢) Disapproval c) Awkward
d) Defiance d) Sporting
57. Ostracize 60. Capricious
a) Shun a) Fickle
b) Debar b) Inconsistent
¢) Repudiate ¢) Mercurial
d) Include d) Stable

58. Jeopardy
a) Loss
b) Safety
¢) Harm
d) Peril



61.

62.

63.

64.

65.

66.

67.

SECTION - 111
MATHEMATICS

A bike covers a distance of 750 meter in 2 minutes
30 seconds. What is the speed in km/hr of biker :
a) 16

b) 18

c) 17

d) 17.5

If a man crosses a 600 meter long street in
5 minutes. What is the speed in Km/hr

a) 7.2 Km/hr

b) 8 Km/hr

¢) 9 Km/hr

d) 6 km/hr

What would be 25 mph in Kmph?
a) 20
b) 30
c) 45
d) 90

The ratio between the speeds of two trains is 7: 8.
If the second train runs 400 kms in 4 hours, then the
speed of the first train is?

a) 88 Km/hr
b) 87 Km/hr
¢) 87.5 Km/hr
d) 86.5 Km/hr

Rajesh covers the distance from his home to his office
at a speed of 25 km/hr and comes back at a speed of
4 km/hr. He completes the whole journey within 5
hours 48 minutes. Find out the distance from his

home to office:

a) 20 Km
b) 22 Km
¢) 24 Km
d) 21 Km

A bus covers a distance of 450m in 90 seconds.
What is the speed in km/hr?

a) 21 Km/hr
b) 18 Km/hr
¢) 19 Km/hr
d) 10 Km/hr

If by selling a pen for Rs. 34.80 a man loses 25%,
what is the cost price of the pen?

a) 46.40
b) 50.04
c) 48.30
d) 47

68. A seller buys pencils at rate of 3 for Rs. 5 and sells

those 2 for Rs. 4. His profit is:
a) 10%
b) 20%
c) 12%
d) 15%

. A'reduction in 25% in price of bananas will enable

one to buy 4 dozen more bananas for Rs. 96. What
is the price per dozen?

a) Rs. 7
b) Rs.7.2
c) Rs. 8
d) Rs. 9

. A man sold his book for Rs.75 and got a percent

profit equal to the cost price. Find the cost price?
a) Rs. 54
b) Rs. 48
¢) Rs. 60
d) Rs. 50

71. Ron purchased a table for Rs.1260 and due to some

scratches on its top he had to sell it for Rs. 1197. Find
his loss per cent.

a) 6%

b) 7%

c) 5%

d) 5.5%

. Maria purchased an old scooter for Rs.12000 and spent

Rs.2850 on its overhauling. Then, he sold it to his
friend Sam for Rs.13860. How much per cent did
he gain or lose?

a) 6%
b) 8%
c) 9%
d) 3%

. If the cost price of 10 pens is equal to the selling

price of 8 pens, find the gain or loss per cent.
a) 24%
b) 22%
c) 27%
d) 25%

. A school bookshop sells an outdated biology text

book for Rs. 49.35, making a 6% loss. What was
the cost price of the book, and what is the cash
value of the loss?

a) Rs.3.15
b) Rs. 4
c) Rs. 5
d) Rs.4.10



75.

76.

7.

78.

79.

80.

A shopkeeper purchased two varieties of rice, 80 KG
at Rs. 13.50 per KG and 120 KG at Rs. 16 per KG.
The shopkeeper being greedy mixed the two varieties
of rice and sold the mixture at a gain of 16 %. Find
per KG selling price of the mixture.

a) Rs 17

b) Rs. 17.40
c) Rs.17.20
d) Rs. 16.02

The volume of a block of wood that measures 4 cm
in length, 3 cm in width and 2 cm in height?

a) 24 cm”3

b) 22 cm"3

c) 28 cm”3

d) 23 cm”3

What is the unit of temperature?

a) Degree Celsius
b) Degree protractor
¢) Degree Kelvin
d) Degree Richter

The best estimate for the height of a doorway is?
a) 2 hectare

b) 2 millimeter

¢) 2 liters

d) 2 meters

What is the volume a cube with side
measuring Scms?

a) 125 cm”3
b) 155 cm”3
c) 3145 cm”3
d) 375 cm”3

Train wagon of length10 meters,height 5 meters
and width 6 meters have capacity of:

a) 350 meter"3

b) 300 meter"3

c) 250 meter3

d) 1000 meter"3

81.

82.

83.

&4.

85.

In a library, the ratio of number of story books to that
of non-story books was 4:3 and total number of story
books was 1248. When some more story books were
bought, the ratio became 5:3. Find the number of
story books bought.

a) 320
b) 310
0) 312
d) 311

Sam and Ron together have Rs. 1050. On taking
Rs. 150 from Sam, Sam will have same amount
as what Ron had earlier. Find the ratio of amounts
with Sam and Ron initially.

a) 6:3

b) 4:3

c) 3:6

d) 5:5

6 men and 8 women can do as much work in a given
time as 3 men and 13 women. The capacities of a
man and a woman are in the ratio :

a) 4.3
b) 5:4
c) 53
d) 5:5

14 buffaloes consume 63kg hay in 18 days. Number
of buffaloes to eat 770kg of hay in 28 days should be:

a) 120
b) 115
¢) 130
d) 110

If there are 500 Laptops in an outlet and 60% of
them are Macbook, number of Macbook are :

a) 300

b) 400

¢) 350

d) 290



SECTION -1V
LOGICAL REASONING

Questions 86 - 90 :
Directions for (86-90): In each of the questions below are given four statements followed by three conclusions
numbered I, IT and III. You have to take the given statements to be true even if they seem to be at variance from
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

86.

87.

88.

Statements: Some shoes are socks. All socks are
towels. All towels are bedsheets. No bedsheet is
blanket. Conclusions :

I. No towel is blanket.

II. Some shoes are towels.

III. Some shoes are bedsheets.

a) Only I and II follow
b) Only II and III follow
¢) Only I and III follow
d) All follow

Statements: Some rocks are hills. All hills are
mountains. All mountains are rivers. No river
is Canal. Conclusions:

I.  All rocks are rivers.

II. Some hills are canals.

III. Some rivers are canals.

a) Only I follows

b) Only II and III follow c.
¢) Only I and III follow

d) None follows

Statements: Some fruits are flowers. Some flowers
are buds. No bud is leaf. All leaves are plants.
Conclusions:

I. No plant is bud.

II. Some plants are flowers.

III. Some buds are fruits.

a) None follows

b) Only I follows

¢) Only II and III follow
d) Only III follows

89. Statements: All chairs are tables. All tables are
telephones. All telephones are cell phones.
No cell phone is computer. Conclusions:
I. All cell phones are tables
II. Some chairs are computers.
III. No chair is computer.

a) Only I follows

b) Only II follows

¢) Only III follows

d) Only either II or III follows

90. Statements: Some pearls are gems. Some gems
are diamonds. All diamonds are rings. All rings
are bangles. Conclusions:

I. Some bangles are rings.
II. All rings are diamonds.
II1. All diamonds are bangles.

a) Only I follows

b) Only I and II follow
¢) Only I and III follow
d) All follow



Questions 91 - 96 :
Directions: Read the passage and answer the questions

A restaurant has five items on offer. Mutton Biriyani, chilled Faluda, Hyderabadi chicken, antipasto pasta salad and Paneer Jhalfrezi.
However, they offer a different assortment of items on each of the days of a week.

1. Chilled Faludais the only dessert dish. So itis offered everyday.

2. Mutton Biriyani and antipasto pasta salad are two main courses dishes and either one or both of these has to be offered everyday.

3. Wednesday is the festival day when all five dishes are offered.

4.  Leavingaside Tuesday there are only two other days when three items were offered. Other than Tuesday and Thursday, a different
combination of food is offered everyday.

5. There are two Bonanza days in a week when four items are offered, and they are not the beginning or the ending day of the week.
Mutton Biriyani and Hyderabadi chicken are compulsory these days. These days are not consecutive. Mutton Biriyani is offered

6.  Theweek starts on Sunday and ends on Saturday.
7. Sunday is the only light day when the least possible number of items were served
91. Which are the days when Mutton Biriyani 94. If we know that Tuesday's menu included Paneer
was served? Jhalfrezi , then which days Hyderabadi Chicken
a) Sunday, Monday, Wednesday, Friday was served?
b) Monday, Wednesday, Friday, Saturday. a) Monday, Tuesday, Friday.
¢) Monday, Friday, Wednesday. b) Monday, Saturday, Wednesday, Friday.
d) Sunday, Tuesday, Thursday, Saturday. ¢) Sunday, Monday, Tuesday, Wednesday.
d) Wednesday, Thursday, Friday, Saturday.
92. What were the items served on Sunday?
' 9
a) Mutton Biriyani, Chilled Faluda. 95. What_was Tuesday's m?nu' o
b) Mutton Biriyani, Hyderabadi chicken, Chilled Faluda. a) Antipasto pasta salad, Chilled Faluda, Hyderabadi Chicken.
¢) Antipasto pasta salad, chilled Faluda. b) Antipasto pasta salad, Chilled Faluda, Paneer Jhalfrezi.
d) Antipasto pasta salad, Paneer Jhalfrezi, Chilled Faluda. ¢) Antipasto pasta salad, Chilled Faluda, Paneer Jhalfrezi.
d) Mutton Biriyani, Hyderabadi Chicken, Chilled Faluda,
Paneer Jhalfrezi.
93. Which were the days when Hyderabadi ) )
Chicken was served? 96. If the restaurant celebrates an indo- Italian day on

on alternate days.

a) Monday, Wednesday, Friday, Saturday.

b) Monday, Tuesday, Wednesday, Thursday, Friday, Saturday.
¢) Tuesday, Wednesday, Saturday, Monday.

d) Cannot be determined.

Questions 97 - 101 :

Directions: Fill in the blanks at the place of ? in the following :

Friday and puts pasta on the menu on that day,

then what is the menu on Monday?

a) Mutton Biriyani, Hyderabadi Chicken, Paneer Jhalfrezi.

b) Mutton Biriyani, Hyderabadi Chicken. Paneer Jhalfrezi,
Chilled Faluda.

¢) Mutton Biriyani, Chilled Faluda, Hyderabadi Chicken.

d) Mutton Biriyani, Hyderabadi Chicken, Paneer Jhalfrezi,
Antipasto pasta salad.

97. Calender : date :: Dictionary : ? 100. Amusement Park : rides :: Theater : ?
a) Numbers a) Visit
b) Words b) Entertainment
¢) Alphabets ¢) Movies
d) Weight d) Singing
98. Scale : length :: Flask : ? 101. Car : driving :: aircraft : ?
a) Volume a) Running
b) Liter b) Flying
¢) Kilogram c¢) Taking off
d) Height d) Landing
99. Soap : cleaning :: fridge : ?
a) Storing
b) Hiding
c) Cooling

d) Preserving



Questions 102 - 105 :

Directions: In each of the following questions, four numbers are given. Out of these four, three are alike in some
way but rest one is different. Choose the one which is different from the other.

103.

104.

105.

106.

s 107.

b) 125 108.

d) 254 109

Sarita ranks twelfth in a class of forty six. What
will be her rank from the last?

a) 33

b) 35

c) 37

d) 34

110.

Four of the following five are alike in a certain way
and so form a group. Which is the one that does not
belong to the group?

a) Clove

b) Cinnamon

¢) Apricot

d) Cardamom

How many such pairs of letters are there in the
word EXPERIMENT each of which have as many
letters between them in the word as they have
in the English alphabet?

a) None

b) One

¢) Two

d) Three

. Pointing to a photograph Rasika said "He is the

grandson of my grandmother's only son." How
is the boy in photograph related to Rasika?

a) Son

b) Nephew

c¢) Brother

d) Cannot be determined

A direction pole was situated on the crossing. Due
to an accident the pole turned in such a manner that
the pointer which was showing east, started showing
south. One traveler went to the wrong direction
thinking it to be west. In what direction actually he
was travelling?

a) North

b) South

c) East

d) West



I11.

112.

113.

114.

115.

116.

117.

SECTION -V
LEGALAPTITUDE AND LEGAL AWARENESS

The full form of WTO is

a) World Traders Organisations
b) World Trades Organisation
¢) World Trade Organisation
d) World Trading Organisation

At present, a dispute between India and
Pakistan is before the International Court
of Justice. This dispute pertains to:

a) The Kashmir dispute

b) Surgical Strikes

¢) Kulbhushan Jadhav

d) Rann of Kutch dispute

In the absence of an agreement profit and loss
are divided by partners in the ratio of

a) Capital

b) Equally

¢) Time devoted by each partner

d) None of these

A person who receives a share of profits
from one of regular partner is called

a) Secret Partner

b) Quasi Partner

¢) Partner in profit only
d) Sub-partner

The Fundamental Rights enshrined under
Constitution of India is a right guaranteed
against whom.

a) Enemy & Alien

b) Multinational Corporation

c¢) State and individual

d) Private individual

Respecting National anthem is a

a) Fundamental Rights

b) Fundamental Duty

¢) Social Duty

d) Directive Principle of Policy

Name the different types of emergency
existing under Constitution of India

a) Financial emergency

b) National Emergency, Financial Emergency

¢) National Emergency, State Emergency,
Financial Emergency

d) National Emergency

118.

119.

120.

121.

122.

123.

124.

In India which of the following agency/authority
is considered as supreme

a) Parliament of India

b) Supreme Court of India

¢) Constitution of India

d) Prime Minister of India

'Ex parte' means
a) On one side only
b) Former Partner

c¢) Party in past

d) None of the above

"Wrongful gain' means

a) Gain by lawful means of property which the
person gaining is not entitled

b) Gain by unlawful means of property which
the person gaining is not entitled

¢) Gain by unlawful means of property which
the person gaining is entitled

d) None of the above

Adultery means

a) Sexual connection of a husband or wife with somebody
other than a lawful spouse

b) Sexual connection of a husband with his wife who is
less than 15 years of age, without her wish

c) Sexual connection of a husband with his wife against
her wishes

d) All of above

Which is the Oldest High Court of India?

a) Allahabad High Court
b) Bombay High Court
¢) Madras High Court
d) Calcutta High Court

Which kind of tax is GST?

a) Direct tax

b) Indirect tax

¢) Depends on type of goods and services
d) None of above

Qui facit per alium facit per se means
a) Act of an agent is an act of principal

b) Act of an agent is not act of principal

c) Principal and agent liable jointly

d) None of them



125.

126.

127.

128.

129.

130.

131.

132.

Which day is officially recognized as United
Nations World Elder Abuse Awareness Day?

a) 11 June
b) 13 June
c) 15 June
d) 16 June

The right of private defence is based on the
natural instinct of

a) Self-preservation
b) Self-sufficency
¢) Self-respect

d) Self-reliance

'A" puts his hand in B's pocket for stealing money.

The pocket was empty. 'A' will be liable for

a) Theft

b) Attempt to theft

¢) Criminal misappropriation
d) No offence

Which is the first written Constitution of
the world?

a) UK

b) Canada

c) USA

d) Australia

Which of the following is not true about the
preamble of the Constitution?

a) It is a part of the Constitution

b) It cannot be amended

c¢) It can be used for interpretation of the Constitution

d) It describes India as a "Sovereign, Socialist, Secular,
Democratic Republic

Non registration of marriage Under Hindu Law

a) Invalidate the marriage

b) Not invalidate the marriage but calls for
imposition of penalty

¢) Not invalidate the marriage

d) None of above

What are the rights of arrested person?

a) Informed about of grounds of arrest and to meet an
advocate of his choice

b) To go to temple

¢) To profess his profession

d) To give brief note in writing

Act of unlawfully entering into others
premises is known as

a) Appropriation

b) Encroachment

c¢) Trespass

d) None of above

133.

134.

135.

136.

137.

138.

139.

140.

141.

Property of a Company belongs to

a) Shareholders
b) Members
c) Promoters
d) Company

Which of the following tax will be abolished
by the GST

a) Service Tax

b) Wealth Tax

c¢) Corporation Tax

d) Income Tax

UDHR refers to

a) Unique Declaration of Human Rights

b) Universal Declaration on Human Rights

¢) Universal Democratic Human Reform

d) Understanding Democracy and Human Rights

Under Animal laws in India

a) Itis illegal to put out poisoned food.
b) Itis illegal to kill homeless animals
¢) To feed stray animals

d) Both (a) & (b) are correct

‘audi alteram partem’ means

a) Hear the other party
b) Notice to appear
¢) Lets have a body
d) Right of Counsel

In case of violation of Fundamental Rights
one can directly move to

a) District and Session Court

b) High Court

¢) Supreme Court

d) Supreme Court, High Court.

Which of the following are the third generation
human rights?

a) Civil and political rights

b) Economic, social and cultural rights

c¢) Group rights based on the idea of common human life.
d) None of above

The maxim 'ignorantia juris non excusat' means
a) Ignorance of law is no excuse
b) Ignorance of fact is no excuse
c¢) Ignorance of law is an excuse
d) Ignorance of fact is an excuse

Which is an institution to rehabilitate juvenile
delinquents?

a) Juvenile courts
b) Remand Homes
c) Foster Homes
d) All of above



142.

143.

144.

145.

146.

147.

The National green Tribunal NGT was
established in the year

a) 2004
b) 2007
c) 2008
d) 2010

Insanity is
a) Lack of free will
b) Incapacity produce due to drunkenness

c¢) Diseased mind
d) None of the above

In Law the term neighbor means

a) Person who might be affected by your actions
b) Person who stay in your locality

¢) Person who live adjoining to your house

d) None of above

How Assault differs from battery?

a) Assault is attempt to use force and Battery is the
actual use of force

b) Battery is attempt to use force and Assault is
actual use of force

¢) None of them

d) Both a &b

Polluter Pays Principle exposes the polluter
to two fold liability

a) Compensation to the victims of pollution
b) Ecological restoration

¢) Both of a &b

d) None of these

Indian Legal System has opted the system of
hierarchy of courts, as

a) It provide a system of appeals

b) Allows a mechanism of different forms of hearing
according to the gravity of the case

c) Botha &b

d) None of these

148.

149.

150.

Which is the first country in the world to have
enacted legislation for Right to Information?
a) Sweden

b) India

¢) Pakistan

d) Srilanka

In Indian Criminal Legal system the temporary
release of a prisoner is called

a) Discharge

b) Pardon

¢) Parole

d) Release

Mr. A is running a shop. In the same area Mr. X
started similar business. Due to Increased
competition in market Mr. A sustained loss.
Mr. A filed a case against X that due to him he
has to incur loss. Find out the possible decision
in this case

a) Mr. X will be liable and ordered to shut down his business
b) Mr. X will not be liable

¢) Mr. X will be liable but ordered to pay damages only
d) None of above
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